Final Term Exam

<u>ID: 11533</u>

Name: Ashir Ali Khan

Semester: 12th

Subject: Differential Equation

Teacher: Sir Latif Jan

Qa) Define 2nd..... Ins: Second order lines constion homogenous differential equation is defined as: (with constant coefficients:e-g: 3y"-6y"+2y=0 (a & base number) Acte: These is no term that is based on function of n itself In a non-homogeneus DE: there is a term made of only the function of x. y"+Py'+P.y=Q(n) e.g: 3y"-6y +2y=est b) Solve the following 2nd order. 1. 4y'- 6y'+7y=0 Colution: - Second order homogenous equation: - Making the characteristic equation: → Using undeterminant coefficient 4m²-6m+7=0 2020 2020/6/25 16

→ Using quadratic equation: m = 6 + 36 - 4(4)(7)2(4) $m = \frac{3 \pm i\sqrt{19}}{4} = 3 \frac{3 \pm i\sqrt{19}}{4}$ Hence: $y = c_{1}e^{\frac{3}{4}x}\cos(\sqrt{19}x) + c_{2}e^{\frac{3}{4}x}\sin(\sqrt{19}x)$ $y(x) = e^{\frac{3}{4}x} \int C_1 \cos\left(\sqrt{\frac{19}{4}}\right) + C_2 \sin\left(\sqrt{\frac{19}{4}}\right)$ ii y - 4y - 12y = 3e5x Solution. → Homogeneous equation: y'-4y-12y=3e⁵ⁿ -> Characteristic equation: $m^2 - 4m - 12 = 0$ m = 6, -2→ Hence complementary solution is: ye = ce^{6x} + c, e^{-2x} → Finding posticular solution: → Let yp = ae^{5x} y' = Sae^{5x}; y' = 25 ae^{5x} → Substituting in DE:

25 ae^{5x}-4(5 ae^{5x})-12 ae^{5x} = 3e^{5x} (25a - 20a - 12a) e^{5x} = 3e^{5x} (-7a) e^{5x} = 3e^{5x} $-7a = 3 \Rightarrow a = -3$ $\frac{y_{p}=-3}{7}e^{5x}$ + Hence → So, since y(x) = yetyp $y(x) = c_1 e^{5x} + c_2 e^{-2x} - 3 e^{5x}$ Mus 2 Solve the following IVP for the (1) 16y - 40y +25=0 y(0)=3y (0)=-9/4 Colution : 16m² - 40mm 25=0 (Characteristic equation) y'(0)= fe (c,+0) + (c,)e

 $-\frac{9}{4} = \frac{5(3)}{4} + \frac{c_2}{2} = 5 - \frac{c_2}{2} = -6$ + Hence= $y(x) = e^{\frac{2}{3}x}(3-6x)$ dre ii y"+14y'+49y=0; y(-4)=+ y'(-4)=5 Solution: -> Characteristic equation: $m^2 + 14m + 49 = 0$ $m = -7_{9} - 7$ $y(x) = e^{-7x} (c_{1} + c_{2}x)$ $y(-4) = e^{28} (c_{1} - 4c_{2})$ $-1 = e^{28} (c_{1} - 4c_{2}) = 7c_{1} - 4c_{2} = -1$ e^{28} $y'(x) = -7e^{-7x}(c_{1}+c_{2}x) + (c_{2})e^{-7x}$ $y'(-4) = -7e^{28}(c_{1}+c_{2}(-4)) + c_{2}e^{28}$ $5 = e^{28}\left[-7c_{1}+28c_{2}+c_{2}\right]$ $-7c_{1}+29c_{2}=5$ (ii) Solving (i) & (ii) simultaneously $c_{1} = 4c_{2} - \frac{1}{e^{28}}$ -7(4c2-e-28)+29c2=5e-28 16 $-28c_{+}+7e^{-28}+29c_{-}=5e^{-28}$ $c_{-}=5e^{-28}-7e^{-28}$:50

 $C_{2} = -2e^{-28}$ $C_{1} = 4(-2e^{-28}) - e^{-28}$ $C_{1} = -9e^{-28}$ Hence: $\frac{1}{2} \left(x \right) = e^{-7x} \left[-9 e^{-28} + \left(-2 e^{-28} \right) x \right]$ y(x) = -7e^{-28-7x} - 2e^{-28-7x} y(x)=-e^{28-7x}(+9+2x) iii y"-4y+9y=0 y(0)=0 , y'(0)=-8 dolution: $= \frac{44100}{2}$ $= \frac{4100}{16}$ $= \frac{410}{16}$ $= \frac{410}{16}$ $= \frac{410}{16}$ $= \frac{410}{16}$ $= 2 \pm \sqrt{5}$ $m = 2 \pm \sqrt{5i}$ $y(x) = e^{2x} (c_{1} \cos(\sqrt{5x}) + c_{2} \sin(\sqrt{5x}))$ $y(o) = e^{0} (c_{1} \cos(0) + c_{2} \sin(0))$ $0 = c_{1}$ $y(x) = e^{2x} (c_{1} \cos(\sqrt{5x}) + c_{2} \sin(\sqrt{5x}))$ $y'(x) = 2e^{2x} (c_{1} \cos(\sqrt{5x}) + c_{2} \sin(\sqrt{5x})) + (\sqrt{5x}) + (\sqrt{5x})(\sqrt{5}) + (\sqrt{5x})(\sqrt{5}) + (\sqrt{5x})(\sqrt{5x}))$ $y'(o) = 2e^{0} (c_{2} \sin(0) + \sqrt{5}) + (\sqrt{5}) (c_{2} \cos(5x))$ $y'(o) = 2e^{0} (c_{2} \sin(0) + \sqrt{5}) (c_{2} \cos(0) - 8) = \sqrt{5}$ $\sqrt{5}$

6 Hence $y(x) = e^{2x} \left(-\frac{8}{5}\right) \operatorname{Sin}(\sqrt{5x})$ $y(x) = -8e^{2x} Sin(\sqrt{5x})$ (iv) y"-8y'+17y=0; y(0)=-4, y'(0)=-1 $m^{2} - 8m + 17 = 0 (characteristic eq)$ $m = 8 \pm \sqrt{64 - 4(1)(17)}$ 2(1) $m = 4 \pm i$ $y(x) = e^{4x} (c, \cos x + c, \sin x)$ $y(0) = e^{i} (c, + 0)$ $-4 = c_{1}$ Solution: $y'(x) = 4e^{4\pi}(c_1\cos x + c_2\sin x) + (-c_1\sin x) + (-c_1\sin x + c_2\sin x) + (-c_1\sin x) + (-c_1\sin x + c_2\sin x) + (-c_1\sin x$ $\frac{(-c \sin x + c_{2} \cos x)e^{4x}}{(-4+0) + (1)(c_{2})}$ -1 = -16 + c_{2} => c_{2} = 5 Hence: y(x)= e4x (15 sin x - 4 cos x) 2020/6/25 16:51

7 Q3 Define Laplace transform along with example? Let f(t) be a fiven function of t defined for all t=0 then the loplace Transform of f(t) denoted by L § f(t) of F(s) is defined as.
Lif(t) = F(s) = ∫ e^{-st} f(t) dt provided the integral exists, where s is a parameter seal or complex I (et f(t)=1, then Caplace Transform of f(t) will be $\left(\left(f(t) \right) = \int_{0}^{\infty} (1) e^{-st} dt$ = <u>e</u>-st po $= \left[0 - \left(-\frac{1}{5} \right) \right] = \frac{1}{5}$ So, F(s) =] 2020/6/25 16:51

8 A Find the Laplace transform of the given functions. 1. f(t) = 6 (e^- - 5t) + e^3t + 5(t^3) - 9 Solution: Note: [[ekt.] = $L[t^n] = n!$ -Hence: L[f(t)] = 6[1] + [1] + 5[6] - 9S + 6[-3] + 5[6] - 9S = 5 $\frac{\lfloor [j(t)] = 6 + 1 + 30 - 9}{5t6 - 3 - 5}$ 2. g(t) = 4 cos(4t) - 9 sin(4t)+ 2 cos(1ot) Solution: Note: L [Cosat] = 5 sta $\left[sin at \right] = \frac{a}{s^2 t a^2}$ $-2L[g(t)] = 4[\frac{s}{s^2+16}] - 9[\frac{y}{s^2+16}] + 2[\frac{s}{s^2+16}]$

0 0 9 L[g(t)] = 4 s+36 +28 Ans s²+16 s²+100 3 3 $h(t) = e^{3t} + \cos(6t) - e^{(3t)} \cos(6t)$ iii Sution: ution: 7 Note: Using first shift theorem $L(e^{-kt} sinat) = a$ $(s+k)^2 + a^2$ $L(e^{-kt} (s+k)^2 + a^2)$ $(s+k)^2 + a^2$ + Hence L(h(t)) = 1 + 5 - (5-3)5-3 5+36 (5-3)2+36 6:51

0 Q4 Solve the following IVP using Laplace Transform. (i) y"-loy'+9y=5t y(0)=-1, y'(0)=2 Solution: - Homogeneous differential equation. y"-loy +9y = 3 - Characteristic equation $m^2 - lom + 9 = 0$ m = 9.1→ (Complimentary solution) y(t)= c, e4t c et > Finding particular solution $y_p = at + b$ $y_p' = a \Rightarrow y_p' = 0$ (o) - lo(a) + 9(at + b) = 5 +-loa +9 at +9b = St 9at+ (9b-loa) = St 9a=5; 96-10a=0 $a=\frac{s}{q} \Rightarrow b=\frac{1}{2}\left(\frac{s}{q}\right) \Rightarrow b=\frac{s}{81}$ y = 57 + 50 2020/6/25 16:51

1 1 1 1 1 1 11 + Hence , y(t) = ye + 4p $y(t) = c_1e^{9t} + c_2e^{t} + \frac{5t}{9} + \frac{5c}{81}$ $y(o) = c_1(1) + c_2(1) + \frac{50}{81}$ $-1 = c_{1} + c_{2} + \frac{50}{81} = c_{1} + c_{2} = -\frac{131}{81} = -\frac{131}{81}$ $y'(t) = 9c_{1}e^{9t} + c_{1}e^{t} + \frac{5}{9}$ $y'(0) = 9c_{1}+c_{2}+5$ $9c_1 + c_2 = \frac{13}{9}$ (ii) - Clving (i) & (ii) simultaneously. $c_1 = \frac{31}{81}, c_2 = -2$ Hence : $y(t) = 31 e^{9t} - 2e^{t} + 5t + 50$ 81 7 812020/6/25 16:51

12 (ii) $y'' - 6y' + 16y = 2 \sin 3t; y(o) = -1, y'(o) = 4$ Colution: $= 6 \pm 5^2 - 4(1)(15)$ $m = 3 \pm i\sqrt{6}$ Hence: $y = e^{3t} (c, cost \delta t) + c_2 Sin (s \delta t))$ (complimentary solution) Finding porticular solution:-yp = asin3t + b cos 3t yp = 3aCos 3t - 3bsin 3t yp = -9asin3t - 9bcos 3t (-9a+18b+15a) sin 3t+ (-9b-18a+15b) cos3t=2sin 3t (6a+18b)sin3t+(-18a+6b)cos3t = 2sin3t 6a+18b=2 -> (i) $-18a + 6b = 0 \longrightarrow (ii)$ a=1, b=1 30, 10 10 >Hence, $\begin{aligned} y(t) &= \frac{1}{3b} \frac{1}{5} \frac$

13 $y(0) = (c_{1}) + 1(1) = c_{1} = -11$ 10 $y'(t) = e^{3t} \left[-\sqrt{6c_{1}} \sin \sqrt{6-t} + \sqrt{6c_{2}} \cos \sqrt{6t} \right] + \frac{3}{2}e^{3t} \left[\cos \sqrt{6t} + c_{2} \sin \sqrt{6t} \right] + \frac{3}{2}e^{3t} \left[\cos \sqrt{6t} + c_{2} \sin \sqrt{6t} \right] + \frac{3}{2}e^{3t} \left[\cos \sqrt{6t} + c_{2} \sin \sqrt{6t} \right] + \frac{3}{2}e^{3t} \left[\cos \sqrt{6t} + c_{2} \sin \sqrt{6t} \right] + \frac{3}{2}e^{3t} \left[\cos \sqrt{6t} + c_{2} \sin \sqrt{6t} \right] + \frac{3}{2}e^{3t} \left[\cos \sqrt{6t} + c_{2} \sin \sqrt{6t} \right] + \frac{3}{2}e^{3t} \left[\cos \sqrt{6t} + c_{2} \sin \sqrt{6t} \right] + \frac{3}{2}e^{3t} \left[\cos \sqrt{6t} + \cos \sqrt{6t} \right] + \frac{3}{2}e^{3t} \left[\cos \sqrt{6t} + \cos \sqrt{6t} \right] + \frac{3}{2}e^{3t} \left[\cos \sqrt{6t} + \cos \sqrt{6t} \right] + \frac{3}{2}e^{3t} \left[\cos \sqrt{6t} + \cos \sqrt{6t} \right] + \frac{3}{2}e^{3t} \left[\cos \sqrt{6t} + \cos \sqrt{6t} \right] + \frac{3}{2}e^{3t} \left[\cos \sqrt{6t} + \cos \sqrt{6t} \right] + \frac{3}{2}e^{3t} \left[\cos \sqrt{6t} + \cos \sqrt{6t} \right] + \frac{3}{2}e^{3t} \left[\cos \sqrt{6t} + \cos \sqrt{6t} \right] + \frac{3}{2}e^{3t} \left[\cos \sqrt{6t} + \cos \sqrt{6t} \right] + \frac{3}{2}e^{3t} \left[\cos \sqrt{6t} + \cos \sqrt{6t} \right] + \frac{3}{2}e^{3t} \left[\cos \sqrt{6t} + \cos \sqrt{6t} \right] + \frac{3}{2}e^{3t} \left[\cos \sqrt{6t} + \cos \sqrt{6t} \right] + \frac{3}{2}e^{3t} \left[\cos \sqrt{6t} + \cos \sqrt{6t} \right] + \frac{3}{2}e^{3t} \left[\cos \sqrt{6t} + \cos \sqrt{6t} + \cos \sqrt{6t} \right] + \frac{3}{2}e^{3t} \left[\cos \sqrt{6t} + \cos \sqrt{6t} + \cos \sqrt{6t} \right] + \frac{3}{2}e^{3t} \left[\sin \sqrt{6t} + \cos \sqrt{6t} + \cos \sqrt{6t} + \cos \sqrt{6t} \right] + \frac{3}{2}e^{3t} \left[\sin \sqrt{6t} + \cos \sqrt{6t} + \cos \sqrt{6t} + \cos \sqrt{6t} + \cos \sqrt{6t} \right] + \frac{3}{2}e^{3t} \left[\sin \sqrt{6t} + \cos \sqrt{6t} \right] + \frac{3}{2}e^{3t} \left[\sin \sqrt{6t} + \cos \sqrt{6t}$ 1 cos 3t - 3 sin 3t 10 10 $y'(0) = (JG_{q}) + 3(q) + 1.$ $-4-1 = \sqrt{6c_2 + 3} \begin{bmatrix} -117\\ 10 \end{bmatrix}$ $c_{2} = -2\sqrt{6}$ Hence; $y(t) = e^{3t} \begin{bmatrix} -11 \cos \sqrt{6t} - 2\sqrt{6} \sin \sqrt{6t} \\ 10 \end{bmatrix} + \frac{1}{30} \sin \sqrt{6t} + \frac{1}{30} \cos 3t \end{bmatrix}$ 2020/6/25 16:5